
Artikel-Nr:
193 4066 Stainless Steel
193 5066 Steel black
193 9066 Mounting Set Revision 4: 10.8.2010

FITTING INSTRUCTIONS
Montageanleitung • Instructions de montage
Instrucctionnes de montaje • Manual

Load Bar 60 front, Tragbügel 60 vorn
Isuzu D-Max Double Cab / Space Cab

Page 3-4 Page 5-6



page / Seite  2

M5 x16; DIN 7500 8x

M8 x35; DIN 933 8x

M10 x40; DIN 933 2x

M8; DIN 934 8x

M10; DIN 985 2x

Ø 8; DIN 127 8x

Ø 8,4; DIN 9021 16x

Ø 10,5; DIN 9021 2x

Ø 10,5; DIN 125 2x

 SW 13mm 8x

 SW 17mm 2x

Ø 4,0 1x

aa

bb
cc

ee

ff

Standard Parts list / Standard Parts list / NormteilelisteNormteileliste

Revision 4: 10.8.2010

193 4066.1 (193 5066.1)11
Parts list / Parts list / Teileliste / Lista de accesoriosTeileliste / Lista de accesorios

Mounting set 193 9066 /Mounting set 193 9066 /  Montagesatz 193 9066Montagesatz 193 9066

193 5192 R / 193 5193 L22 gg

hh

ii
kk
mm
nn

not includednot included::
– separate –

52 11 04 - 10 55
t-nut; Nutenstein

4x

Artikel-Nr:
193 4066 Stainless Steel
193 5066 Steel black
193 9066 Mounting Set

Load Bar 60 front, Tragbügel 60 vorn
Isuzu D-Max Double Cab / Space Cab

SW:    8 mm
SW: 13 mm
SW: 17 mm

M5: 6 Nm
M8: 25 Nm

M10: 50 Nm

Required toolsRequired tools /  / Benötigte Werkzeuge / Outillage requis / Herramientas necesariasBenötigte Werkzeuge / Outillage requis / Herramientas necesarias

Ø 11 mm

dd

10V 804533 2x

extension loadbar extension loadbar 
– Space Cab –

193 4320 R / 193 4321 L44

o M8 x25; DIN 912       2x

r Ø8; DIN 127            2x

t Ø8,4; DIN 125           2x

v SW 17 mm              2x

p M10 x25; DIN 933   2x

q M10 ; DIN 934          2x

s Ø10; DIN 127           2x

u Ø10,5; DIN 9021          4x

19342661934266



page / Seite  3
Revision 4: 10.8.2010

Artikel-Nr:
193 4066 Stainless Steel

55

11

22

M8M8
dd gf ++++

Ø 11Ø 11
Ø 4   Ø 4   

Step 1 Step 2

Step 3 Step 4

Step 5 Step 6



page / Seite  4

a

Artikel-Nr:
193 4066 Stainless Steel Revision 4: 10.8.2010

M5:
6 Nm

M5:
6 Nm

11
11

only if used with 
Isuzu D-Max 

Space Cab !

Step 7 Step 8

Step 9 Step 10

Step 11

33

M10M10
ee h++

m ic ++
M10M10

aa



page / Seite  5

1

Revision 4: 10.8.2010
Artikel-Nr:
193 4066 Stainless Steel

Step 1 Step 2

11

11

22

4x
M8M8
bb g++

Ø 11Ø 11
Ø 4Ø 4

Step 3 Step 4

Step 5 Step 6

M8M8
dd gf ++++



page / Seite  6

kk

a

Artikel-Nr:
193 4066 Stainless Steel Revision 4: 10.8.2010

M10M10
ee h++

M5:
6 Nm

11

11
11

only if used with 
Isuzu D-Max 

Space Cab !

Step 7 Step 8

Step 9 Step 10

Step 11

33

m ic ++
M10M10

aa

kk

Step 12


